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Worksheet to accompany the lesson plan at www.activehistory.co.uk / 1

Debate Table

	Questions to the group who arguing that Versailles was

"Too harsh"
	Questions to the group who arguing that Versailles was

"Not harsh enough"

	Q1

     
	Q1

     

	Answer to Q1:

     
	Answer to Q1:

     

	Q2

     
	Q2

     

	Answer to Q2:

     
	Answer to Q2:

     

	Q3

     
	Q3

     

	Answer to Q3:

     
	Answer to Q3:

     


5. Verdict

Each member of a team is allowed to vote for one of the other two teams which they think produced the best case. These should be added up to produce a verdict.

6. Plenary

Write a conclusion under your table which you think that all three teams would be happy to accept.

Provide an answer to the question:

"The problem with the Treaty of Versailles was not that it was too harsh, but rather that it was not harsh enough" – do you agree?

